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b BROUILLON /SCRAP PAPER ‘ ' Chimie/ Chemistry

. The combustion of 100g of fuel in an engine requires 350g oxygen. All combustion products are digcharged
into the atmosphere in gaseous form. Calculate the mass of gas emitted by a car for a distance of 590 km, if
8 litres of gasoline is consumed per 100km {density of gasoline 0.7 kgL™')./ Pour assurer dans un moteur la -
combustion de 100g d'essence, il faut 350g de dioxygéne. Tous les produits de la combustion sont rejetés &
['état gazeux dans I'atmosphére. Calculez la masse des gaz ainsi refetés par une voiture qui a fait un trajet
de 300 km, en consommant & litres d'essence par 100km (masse volumique de ['essence 0,7 kgL™):
2 a) 150, b)162 ; c)231; d)126

2. The hydrogen atom has a single electron; its radius is equal to 0.05 nm. If in a very large scale model, the
core is represented by a sphere of lmm diameter, what is the diameter of the sphere within which the
electron evolves?/ L'atome d'hydrogéne pesséde un seul électron ; son rayon est égal & 0,05nm. Si, dans
une maquette & trés grande échelle, on représentait le noyau par une sphére de Imm de drame!re quei
serait le diaméire de la sphére a I’ mrerreur de laguelle évoluerait I'électron ?

a) 15; b)10; o)l d)5

p i 3. Among the following ions, which one has the same number of electrons as the 325 atom?/ Parmi les ions
suivants, cerrains ont-ils le méme nombre d électrons que I'atome 35 ?
8 Boribyiist: o8t aist

4. The atomic mass of naturally occurring baron is 10.811. Jt consists of a mixture of two isotopes, with
v ! respective atomic masses of 11.009 and 10.010. What is the isotopic composition of natural boron by mass
(%) of the 11.009 isotope? / La masse atomique du bore naturel est 10,811. Il est constitué d'un mélange de
. deux isotopes, de masses atomiques respectives 11,009 et 10,010. Quelle est la composition isotcpique du
bore naturel en masse (%) de l'isotope 11,095 ?
‘ a) 82.15/82, 15, b) 19.82/82,15 c) 81.65/81,65; d) 18.56/18, 56

“ 5. The atomic mass of naturally occurring boron is 10.811. It consists of a mixture of two isotopes, the
j respective atomic masses of 11.009 and 0.010. What is the isotopic composition of natural boron in
number (%) of the 11.009 isotope? / La masse atomique du bore naturel est 10,811, Il est constitué d'un
mélange de deux isotopes, de masses atomiaues respectives 11,009 et 10,010. Quelle est la compasition

isotopique du bore naturel en nombre (%) e 1'isotope 11,009 ?
a) 80.18/80,18; b)80.81/80.81, ¢) 18,35/18,35, d) 19.56/19.56

' 6. The wavelength of the first and last line of the Lyman series is found in which spectral range? / Dans quel
domaine spectral se situe-elle la longueur d'onde de la premiére et de la derniére raie de !a série de Lyman
- a) Ultraviolet; b)visible; _¢)infrarouge /infrared , d) rayon X / x-ray

7. The wavelength of the first and last line of the Paschen series is found in which spectral range? / Dans quel
domaine spectral se situe-elle la longueur d’onde de la premiére et de la derniére raie de la série de
Paschen
b) Ulraviolet; b)visible;  ¢) infrarouge /infrared, d) rayon X /x-ray

8. The bonds Br-F and Br-Br are respectively 0.178 nm and 0.228 nm in length. What is the length of the F-F
bond? / Les ligisons Br-IF et Br-Br ont respectivement pour longueur 0,178 nm et 0,228nm. Quelie est la
longueur de la liaison F-F ?

a) 0.406/0,406 ; b)0.05/0,05 c) 0.356/0,356, d) 0.064/0,064

9. The bonds Br-F and Br-Br are respectively 0.178 nm and 0.228 nm in length. What is the total length of the

. F, molecule? (the Van der Waals radius of F is 0.135 nm) / Les liaisons Br-F et Br-Br ont respectivement
- pour- longzreur 0,178 nm et 0.228nm. Quelie est la longueur roraie de la molééule de F3? (le rayon de van
der Waals de F vaut 0,135nm)




10. The Co3++ ion forms complex ions when surrounding itself v..»ith six 'ligands', such as NH3, H20, Clzor Br, 18. How much heat is needed, at constant pressure, for {00 g of ice, initially at 268 K, to be transformed it into .
when placed at the vertices of an octahedron with it at the centre. How many stereoisomers can exist from steam_at 383K. It is assumed that the specific heat capacities per given mass or mole are 'incl_ependent of
each of the following complex ions? - Co(NH;}(H,O)}C1)** " Co(NH3)3(H20)(BrWWW-tOUSI esconcour%ﬁﬁ@ure. ! Quelle quantité de chaleur faut-il fournir, & pression constante, & 100g de glace, initialement a

L'ion Co"-forme des ions complexes en s'entourant de six ligands’, tels que NH; H,0, CT ou BY, qui se
Placent awx sommets d'un octaédre dont il occupe le centre. Combien peut-il exister de stéréoisoméres de
chacun des ions complexes suivants ? ~Co(NHy) (H:O)(CY*" - Co(NHys(H:0)(Br)

a) 2Zet2; b)5et2; c)2ets; d)y3etd

11. How can the average speed of gas vary if the temperature rises from 25°C to 400°C? /
Conmment varient la vitesse mcyenne d'un gaz, si la température passe de 25°C & 400°C ?
a) Proportional to 1.5/ Proportionnelle & 1,5 | b) proportional to 2.26/ Proportionnelle & 2,26
c) multiply by 2.26/multipiier par 2,26 ; d) multiply by 1.5 / multiplier par 1,56

12. How can the average kinetic energy of gas vary if the-temperature fises from 25°C to 400°C? / Comment
varient I'énergie cinétique movenne d'un gaz, si la température passe de 25°C & 400°C ?
a) Propertional to 1.5/ Proporiionnelle & 1,5 b) propartional to 2.26/ Proportionnelle & 2,26
c) multiply by 2.26/multiplier par 2,26 ; d) multiply by 1.5 / muitiplier par 1,56

13. What is the mass of water vapour in 1m® of air at 20°C, if the partial pressure is 1.4x107 atm? / Qwelle est la
masse de vapeur d'eau contenye dans In?® d’air, & 20°C, si sa pression partielle vaut 1,407 anm ?
“a) 10.44/1044; b)Y 10.10/17.10; c)18.44/18,44 ; ¢) 14.18/14,18

14. The osmotic pressure of blcod is 7.7atm, What is the concent=ation, in gL of a sodium chloride solution
isbtonic with blood at body temperature? / La pression osmotique duy sang est 7,7 atm. Quelle est la
concentration, en g.L", d'une solution de chlorure de sodium isotonique avec le sang, a la températire du
corps ? a) 7.87/7,87; b) 7.88 /7,88; Q)8TU8TT, T d)9.78/9.78

#1 15, Given'the following saponification reaction of an ester with socium hydroxide:

CH3:CO,CH; + OH —» CH;CO; + CH;0H

The teaction is carried out at initial concentrations of 1.107 mol L™ of rcactans and at a temperature such
that 1% of the ester is saponified in 30 seconds. How long will 50% of the ester be sapenified ? /Soit la
réaction suivante de saponification d'un ester par la soude : '

CH3CO;CHs + OH —» CHy;CO7 + CH;0H

On réa!fsg la réaction avec des concentrations initiales égales & 1.107 mol.L” et & une température telle
que 1% de ['ester est saponifié en 30 secondes. En combien dz ‘emps 50% de I'ester seront-ils saponifiés ?
a) 50mn; b) 27 min 49s ; ¢)9%4min 72s ; d) 49min 27s

16. The mode of usage of a glue hardener indicates the following hardening conditions: 20°C, 24h; at 40°C, 4h.
Assuming that the curing reaction (polycondensation) obeys the laws of classical chemical kinetics.
Determine what would be the curing time at 80°C. / :

Les instructions d'utilisation pour une colle & durcisseyr indiquent les temps de durcissement suivants : &
20°C, 24h ; & 40°C, 4h. En supposant que la réaction de durcissement (polycondensation) obéisse aux lois
classiquzs de la cinétique chimique. Détermines quel serait le tzmps de durcissement & 80°C.

a) 2lma; b) 10mn ; ¢)12mn;  d)15mn

17. Assume that an inversion of the form A 5 B has an activation energy of 60kJ (constant k;) in the direction
of the formation of B and 80kJ (constant k., in the opposite direction, and that the intervention of a catalyst
lowers 20kJ energy of the astivated complex. By what factors will the kinelic constants k; and k. be
multiplied in the presence of the catalyst? / Supposons qu ‘une inversion, de le forme ASB, ait une énergie
d'activation de 60kJ (constante k) dans le sens de la Jormation de B et de 80k (constante k.;) dans le sens
inverse, et que l'intervention du catalyseur abaisse de 20k) [ Snergie du complexe activé, Par quels facteurs
les constantes de vitesse k; et k) se trouvent-elles multipliées en présence du catalyseur ?

a) 310';  £)310%; & ©3.00°;  d)3.10°
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268 K. pour la transformer en vapeur d'eau G 383K. On admettra que les chaleurs massiques ou molaires sont
indépendantes de la température. S
a) 322.2kJ/322,2kJ;,  b)223.1kJ/223,1k/); ¢)333.5k) /333,5k]; d)302.2Kj/302,2Kf

19, One mole of a gas {assumed to be perfect) is compressed to 3atm in a cylinder, immersed in 2
“‘thermostat’’consisting of a mixture of ice and water, in equilibrium, at 0°C, This gas is allowed to relax to
a pressure of 1 atm, isothermally, and very close to reversibility conditions. Calculate the mass of ice
formed. / Une mole d'un gaz (supposé parfait) est comprimée sous 3 atm dans un cylindre, immergé dans
un “‘thermostat’’ constitué par un mélange d'eau et de glace, en équilibre, & 0°C. On laisse ce gaz se
détendre jusqu'a lo pression de latm, de fagon isotherme, et dans des conditions trés proches de la
réversibilité. Calculez la masse de la glace formée. .
a) 8.21g/821g; b)7.47g/747g; c)6.51g/ 6,51g; d)10.27g/10,27g

20. What weight of ethylene glycol, must be contained in 1000g of aqueous solution to lower the freezing point
to -10°C? / Quel poids d'éthyléne glycol, doit étre contenu dans 1000g de solution aqueuse pour abaisser le
point de congélation & -10°C ? a) 250g ; b)120g ; c)310g; d) 150g

21, What is the coefficient of dissociation of a nitrous acid (HNQ;) solution of pH 1.807 / Dans une solution -
d’acide nitreux HNO; dont le pH est de 1,80, quelle est la valeur du coefficient de dissociation ?
a) 2.5%/2,5% ;, by4.5%4.5% ;«  ¢)4%; . d)3.9%/3,9%

22,50 mL of 2N NaOH was added to 100 mL of a 0.5N HCI solution. What is the pH? / 4 100 mL d'unz
solution de HCI 0.5N, on ajoute 50 mL de soude 2N, Quelle est la valeur du pH ?
a) 11.5/115, 1b)125/125; c)13.5/13,5 d)9.5/9.5

23.50 mL of 2N NaOH was added to 100 mL of a 0.5N HC! solution. To this mixture, 100mL of 1.5N nitric
acid were then added. What is the pH of the new solution? / 4 100 mL d'une solution de HCI 0.5N, on
ajoute 50 mL de soude 2N. Dans ce mélange, on ajoute ensuite 100 mL d'acide nitrique 1,5N, Quelle est la
valeur du pH de la nouvelle solution? a)5.315,3;  b)04/04, ¢)0.5/0.5; d)1.4/1,4

24. 50 mL of 2N NaOH was added to 100 mL of a 0.5N HCl solution. To this mixture, 100mL of-1.5N nitric
acid were then added followed by 0.2N mole of ammonia. What is the pH of the new solution thus
prepared? /A 100 mL d’une solution de HCI 0,5N, on ajoute 50 mL de soude 2N, Dans ce mélange, on
ajoute ensuite 100 mL d'acide nitrique 1,5N. Ensuite, dans la nouvelle ainsi obtenve, on ajoute 0,2N mole
d’ammoniac. Quelle est lavaleur du pH de la nouvelle solution ainsi préparée? )

a) 85/8.5; b)9.24/ 9,24, ¢)7.42/7,42; d)10.5/10,5

25. A buffer was prepated with 200 m! of an ammonia solution at 0.06 moIL" and 300mL of an ammonium
chloride solution at 0.3 molL™". What is its pH? / On prépare un tampon avec 200 mL d'une solution
d'ammoniac & 0,06 molL et 300mL d'une solution de chlorure d'ammonium & 0,3molL”. Quel est son pH ?
a) 9.36/9.36; b)9.24/ 9,24, ¢) 7.00/ 7,00; d) 6.36/6,36

26. A buffer was prepared with 200 ml of an ammonia solution at 0.06 molL"' and 300mL of an ammonium
chloride solution at 0.3 molL™, What will be the pH after the addition of 0.02 mol of HsO" in this buffer? /
On prépare un tampon avec 200 mL d'une solution d'ammoniac & 0,06 molL™" et 300mL d’uné solution de
chlorure d'ammonium & 0,3molL". Quel est la valeur du pH aprés addition de 0,02 mole d'ions H;0' dans
ce tampon? a) 5.25/5,25 ; b)6.52/6,52 ; c)8.25/8,25 ©d)9.20/9,20

27. What mass of lead should a battery contain in order to charge to S0A.h, losing only 30% of its theoretical
maximum load? / Quelle masse de plomb doit contenir un accumulateur pour pouvoir débiter 504.h, en ne
perdant que 30% de sa *‘charge "’ théorique,maximale ?

a) 1200; b)1538;  ¢)1283: . d) 1365
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+ 28.0.47 g of magnesium oxalate can be dissolved in 500 ml of a solution already containing sodeMﬂA_tt@uﬁ'GSCO '

a concentration of 2x10° molL™", What is the value of the solubility product of magnesium oxalate? / On
peut dissoudre 0,47g d'oxalate de magnésium dans 500 mL d'une solution contenant déja de l'oxalate de
sodium & la concentration de 2.10°* mollL™”. Quel est la valeur du produit de solubilité de I'oxalate de
magnésium ? @) 8.7.10%18,7.10°;  5)7.8.105/7,8.10°; ¢c)6.8.10° /6.3 10°; d)8.6.10°18,6.10°

29. How much of sodium fluoride can be dissolved in 200 mL of water such that the solubility of barium
fluoride in the solution is reduced to 5x10™ L2 (Ks = 1.10%) / Combien Jaut-il dissoudre de fluorure de
soditim dans 200 mL d'eau pour que la solubilité du Jluorure de baryum dans cette solution soit réduite de
5107 mol L' ? (Ks = 1.10°%)

a) 743.10%7,43.107 ; b}4.37.10%7 437102 ; ) 3. 471073, 47.107

30. The atom s;Te belongs to : / L ‘atome de 5,Te appartient : =
a) block *d” of periodic table / bloc d du tableau périodique :
b) block ‘s’ of periodic table / bloc s du tableau périodique ;
- ¢)block ‘p’ of periodic table / bloc p du tableau Ppériodique ; d) group of rate earth/groupe des terres rares

. The atom ssCs belongs to 1 / L ‘atome de 55Cs appartient :
a) block ‘d’ of periodic table / bloc d du tableau périodique ; b) block 's’ of periodictable / bloc s du

tableau périodigue ; c) block ‘p’ of periodic table / bloc P du tableau périodique ;  d) group of rare
earth/groupe des terres rares

32, Given H, «C, 7Nl £0, 1P, 17C, 27Co, What is the hybn'qﬁzation state of the central atom in the H,0
molecule? /On dojnne iH, 6C. 7N, 40, 15P. 17CL 27Co. Quel est 'état d hybridation de 'atome central danis i
molécule de H:0\7 a)sp®; b)sp’; ¢)spld; dy sp’d?.

23, Giv;n H, C, ﬂi\l, 30, 15P, 17Cl, 27Co. What is the hybridization state of the central atom in the PCls
molecule?/On donne 1H, 4C, N, 30, 15P, 17CL, 3:Co. Quel est I'état d'hybridation de 'atome central dans la
molécule de PCI5; a)sp®; b)sp’ ; c)spd; dysp’d?.

34. Given |H, ¢C, TNf 10, 1sP, 17Cl, 27Co. What is the hybridization state of the central atom in the [Co(CN),*
molecule? / On donne (H, oC, 7N, 30, 1sP, 17CI. 3Co. Quel est I'état d’hybridation de |'atome central dans
lamolécule de [Co(CN)J* ?  a)sp’; b)sp®; ¢)spid: d) sp’d? .

35. In the phase diag‘éam of a one-component system, the point at which three phases are in equilibrium is: / Dans
le diagramme de ,bhme d'un systéme & un constituant, le point pour lequel on & 3 phases en équilibre est :
a) azeotrope; b) eutectic / 'eutectique;  c) triple point/point triple d) demixtion point /point de dimixion.
36. The number of de:'gree of freedom of a saturated solution of Agl is / Lz nombre de degré de liberté d'une
solution saturée de Agl est : 2)0.0/0,0, b)1.0/1,0, <) 1.5/15 d)2.

. 37. The rate constanit of the radiosctive decay reaction of 'St by emission of -particles is 7.6x10"%. For initial
8r concentration of 0.5 mole the half-life is: / La constante de vitesse de la réaction de désintégraiion de
radioactive de ”.S:r par émission de particules f est de 7,6.10°7"%. Pour 0,5 mole initiale de*'Sy. I temps de
demie vie est de ;1

2)5.2.10% /5,2.10% ; )7.9.10%/7.9.10°s ¢)2.6.10°5/2,6.10°s d)9.1.10%/ 9,1.10"

38. A radioactive isotope disintegrate at a rate such that after 68 min, there is only % of its original .mass,
Caleulate the disintegration constant / Un isotope radioactif se désintégre & une vitesse telle qu’aprés 68
mn, il ne reste que % de sa masse initiale. Caleuler sa constante de désintégration

. 2) 0.0204 min™ /0,0204 min” ; )0.0342 min™ /0,0342 min” -
* 10,0402 min! ; 4y 0.0205 min™/0,0205 min!

39. When an electron and a positron meet, they annihilate and give two photons of the same energy. Calculate
the wavelength of these photons. /Lorsgu 'un électron et un positron se rencontrent, ils s annihilent et
donnent deux Pphotons de méme énergie. Caleuler la longueur d’onde de ces photons.

a) 0.042A/0.0424; 1)0.014 A/ 0,014 4; ¢) 0.044A10,0444 ;  d) 0.024A/0,0244

40, The number of atoms in a lattice in a centered cubic lattice is: [Le nombre d'atome dans une maille dans un
réseau cubique centré est de : = 2

ayl; 02; ¢y 3. dy4,

d)4.73.10%4,73.10°

3

e

¢) 0.0402 min”

'he nmber of atoms in a lattice in a face centered cubic lattice is; /Le nombre d'atome dans une maille
dans un réseau cubique face cenré estde :  a)1;, b)2; ¢} 3 d)4;

42, Copper has a face centered cubic structure. The length of the side of unit lattice is 3.61 A. What is the size
of the larger atom that could lodge in the interstices of the copper network without deforming it? ILe cuivre
a une structure cubique & faces centrées. La longueur du coté de sa maille élémentaire est de 3,614, Quelle
est la grosseur de 'atome le plus volumineux qui pourrait se loger dans les interstices du réseau du cuivre
sans le déformer ? 2)035A/0354; b)053A0534, ¢)2.61K/2614; d)0.61 Al0.61 4

43. The Avogadro’s number is 6.022x10%; the molecular weight of copper is 63.5 g / mol. Copper crystallizes
in a face cubic centered network whose sides measure 0,362 nm. The density of copper is: /Le nombre
d’Avogadro est de 6,022.10”, la masse molaire du cuivre est de 63,5g/mol, Le cuivre cristallise dans un
résean cubique face centrée dont I'arréte mesure 0,362nm. La masse volumique du cuivre est de:

2) 1963 kg/m® ; b) 2223 kg/m’ ; ¢) 5890 kg/m? ; d) 8891kg/m’.

44. Identify the compound formed by the additicn of HCI to isobutene / Nommer Je composé formé par
'addition de HC! & 'isobuténe y ‘
a) Tertiary butyle chloride / chlorure de ter-butyle; b) Tertiary butene chloride / chorure de ter-buténe ;
c) lsobutene chloride / chlorure d'isobuténe d) None of the answers /aucune réponse

43. 1dentify the compound formed by the addition of HCI in 3-methyl pent-2-ene ! Nommer le composé formé

par I'eddition de HCI au méthyl-3 penténe-2
a) 2-chloro-3-methyl pentane /2-Chloro -3-méthyl pentane; b) 3-chloro-3 -methyl pentane/3-chjoro-3-méthyl pentant.:-
¢) 3-chloro-2*méthyl pentane/ 2-chloro-2-methy! pentane; d) none of the answers Jaucune réponse

46. What gives the oxidation product 2-methyl but-2-ene with permanganate acid solution? /
Quel produit donne ['oxydation du méthyl-2 buténe-2 avec une solution de permanganate acide ?
a) Acetic acid / Acide acétique; b) butan-2-one /la butanone-2 [,
c) acetone /I 'geetone; \ﬁ; acetic acid and acetone /I 'acetic acid and.acetone

47. What is the structure of the easiest isomer of trinitrobenzene that be obtained from benzene, nmitric acidand (.
sulfuric acid? /Quelle est la structure de I'isomére du trinitrobenzéne le plus facile & obtenir & partir du ~ *
benzéne, de 'acide nitrique et de 'acide sulfurique ? ' N

a) trinitro-1,3,5 benzene /le trinitro-1,3, benzene ; b) trinitro-3,4,5 benzene /e (rinitro-3,4.5 benzene :
¢) trinitro-2,3,5 benzene / le trinitro-2,3,5 benzene | d) none of the answer /aucune réponse

48. Based on Van der Waals forces and electronic properties that are the cause, explain the relative volatilities

of halogens. / En se basant sur les forces dz Van der Waals et les propriéiés électroniques qui 2n sont la

cause, expliquer les volatilités relatives des halogénes. 4

a) the more the atomic number increases, the more the Van der Waals attractions increase, and the more
the volatility ‘decreases /plus le numérc atomique augmente, plus les cliractions de Van der Waals
augmenfent et plus la velatilité diminue ;

B) The more the atomic number decreases, the more the Van der Waals atiractions increase and volatility . -
decreases;/ plus le numéro atomique diminue, plus les atiractions de Van der Waals augmentent ef plus
la volatilité diminue ; i

¢) The more the atomic number increases. the more the Van der Waals attractions decrease, and the more  *~
the volatility decreases; / plus le numéro atomique augmente, plus les attractions de Van der Waals
diminuent et plus la volatilité diminue ; S

d) Ths more the atomic number decreases, the more the Van der Waals attractions decrease, and the more
the volatility decreases /plus le numéro atomique diminue, plus les attructions de Van der Waals
diminuent plus la volatilité diminue ; .

49. Which of the following compounds possesses the shortest distance between the nuclei of neighboring ions?
All have the structure of the sodium chloride lattice. /Dans legwel des composés suivants peut-on s ‘attendre
de trcuver la plus courte distance entre les noyaux d'ions voisins ? Tous ont :’a structure du réseau du
chiorure de sodium.

a) Nal ; b) KCI; ¢) LiF ; d)NaF

50. Based on qiiestion 49 which should be the most stable crystal lattice? /En se bdsant sur la question 49
lequel devrait avoir le réseau cristallin le plus stable?
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